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INTRODUCTION

LO2 Differentiate between the merits and use of different types of maintenance strategies in an
industrial workplace

Maintenance strategies:

Definition of, and need for, maintenance

Component failure, bathtub curve

Equipment design life and periodic maintenance (e.g. belt adjustment, lub io
Reactive, preventive, predictive and reliability centred maintenance

Comparison of the presented maintenance programmes
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= Dustingress
= Excessive light exposure
* |nadequate protection devices

That’s quite a list, and there are many other causes of failure which could be added to it.

You may be familiar with problems with new devices; a car is a good example. A car is a complex machine
with lots of systems and sub-systems. Any one system can be found to be faulty in a new car. When a car
has been ‘run-in’ for a few weeks or months then the chance of finding a faulty sygtem or component

diminishes. The car then has a reasonable useful lifetime. After quite a few ye owever, the car starts

very typical situation for most devices and can be described by a ‘Bathtu picted in figure 1.

Stage of Start-Up / End of Life
Service Life Commissioning
Failure Rate Decreased Increasing

Characteristics Failure Rates Failure Rates

Root Causes

Figure 1 The bathtub curve
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system failure.

Predictive testing and inspection data is assessed tq

recognition in the data and testing of limits and rang@8
servicing.
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The performance of Preventive Maintenance has many advantages including...

= increase in equipment availability

= performed as and when convenient

= balanced workload

= reduction in overtime

= increase in production revenue

= consistency in quality

= reduction in need for standby equipment

= stimulation in preaction instead of reaction
= reduction in parts inventory

* improved safety

= standardized procedures, times, and costs
= scheduled resources on hand

= useful in promoting benefit/cost optimization

Some disadvantages of Preventive Maintenance are...

= exposing equipment to possible damage
= using a greater number of parts

® increases in initial costs

= failures in new parts/components
= demands more frequent acce

vironmental protection
lity
of costly items

nt in product g
entj ul

tenance cost-effectiveness
= greater motivation of individuals
= higher plant availability and reliability.

Occasionally, application of RCM has resulted in failure. Some reasons for its failure were...

= an analysis conducted at too low a level
= too much emphasis placed on failure data
= the application was superfluous or hurried
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